74

DOC # 0634516
01/18/2005 08:14 AM Deputy: KLJ
OFFICIAL RECORD
Requested By:
D C/COMMUNITY DEVELOPMENT

Douglas County - NV Werner Christen - Recorder age: 1 Of 4 Fee:

BK-0105 PG- 5302 RPTT:

0.00

Assessor's Parcel Number: N/A

Date: JANUARY 13, 2005

Recording Requested By:

Name: LYNDA TEGLIA/COMMUNITY DEVELOPMENT

Address:

Real Property Transfer Tax: \$ N/A

City/State/Zip:

CHANGE ORDER #1 (#2005.014)

(Title of Document)

#### **CHANGE ORDER**

No	1		
PROJECT: 2004 Road Seal Project		$\triangle$	
DATE OF ISSUANCE: September 15, 2003	_EFFECTIVE DATE:_	September 15,	2003
OWNER: Douglas County, NV		\	<u> </u>
OWNER's Contract No. <u>DCCD 2004-603</u>		_ \	\
CONTRACTOR: Sierra Nevada Construction, Inc.	ENGINEER: Jeff Fo	oltz, PE	20.0
You are directed to make the following changes in	the Contract Documer	nts.	JANI
Description: To 1. Reconcile bid quantities to actua	I field quantities.		o n

2. Add the 77 ton extra chips as instructed by field personal.

Reason for Change Order: To reconcile bid quantities to field quantities, and to p

Reason for Change Order: To reconcile bid quantities to field quantities, and to dadditional chips..

Attachments: Tabulation of Bid Quantities

CHANGE IN CONTRACT PRICE:	CHANGE IN CONTRACT TIMES:		
Original Contract Price	Original Contract Times		
	Substantial Completion: October 22, 2004		
\$337,007.00	Ready for final payment: November 5, 2004		
Net changes from previous Change Orders	Net change from previous Change Orders		
No. N/A to No. N/A	No. <u>N/A</u>		
\$0	<u>0</u>		
	days		
Contract Price prior to this Change Order	Contract Times prior to this Change Order		
	Substantial Completion: October 22, 2004		
\$ <u>337,007.00</u>	Ready for final payment: November 5, 2004		
Net Decrease of this Change Order	Net Increase of this Change Order		
<u>\$38,505.32</u>	<u>0</u>		
	days		
Contract Price with all approved Change	Contract Times with all approved Change		
Orders	Orders		
/ )	Substantial Completion: October 22, 2004		
\$ <u>298,501.68</u>	Ready for final payment: November 5, 2004		
/ /			

\		
RECOMMENDED:	APPROYED: / n	ACCEPTED:
By: Coleman	By: Wantel CHobb Owner (Authorized Signature)	By: (-7:1) flast
Engineer (Authorized Signature)	Owner (Authorized Signature)	Contractor (Authorized Signature
Date: 12-21-64	Date: 1-12-04	Date: 1-4-0-5

BK- 0105 PG- 5303 01/18/2005

## 2004 Chip Seal (July 2004)

Bid		Bid		Sierra Nevad	a Construction	Final	Final
	Description	Quantity	Units	Unit Price	Bid Amount	"Q"	Price
			JIII(S			-	
1	Mobilization	1	LS	\$30,000.00	\$30,000.00	\1	\$30,000.0
2	Traffic Control	. 1	LS	\$39,447.48	\$39,447.48	:}	\$39,447.4
	Fremont Street - North of Sunshine Road	1					
3	Chip	105,827	SF	\$0.14	\$14,815.78	105,827	\$14,815.7
4	Fremont Street - South of Sunshine Road - Chip	83,856	SF	\$0.14	\$11,739.84	76,776	\$10,748.6
5	Sunshine Road - Chip	31,364	SF	\$0.14	\$4,390.96	31,364	\$4,390.9
6	MacKay Way #1 - Chip	10,440	SF	\$0.14	\$1,461.60	10,440	\$1,461.6
7	Devon Court - Chip	12,571	SF	\$0.14	\$1,759.94	12,571	\$1,759.9
	Heybourne Road - from end of new pavement north of North Wood Way to						
	fence at NVWWTP - Chip	94,320	SF	\$0.14	\$13,204.80	77,550	\$10,857.0
	East Valley Road - from Pinenut Rd to	0.,020			7 /	71,000	\$10,001.0
9	new pavement south of Jo Lane - Chip	65,428	SF	\$0.14	\$9,159.92	65,428	<b>\$9,</b> 159.9
	Kimmerling Road - Tilman to west side of	1	1	1			
10	Short Court - Pick up chips	57,255	SF	\$0.14	\$8,015.70	57,255	\$8,015.7
	Kimmerling Road - west side Short Ct to west side driveway entrance at				\ / /		
	Residential Care Center - Pick up chips	74,042	SF	\$0.14	\$10,365.88	74,042	\$10,365.8
	Kimmerling Road - west side driveway		State of the local division in which the local division is not as a second division in the local division in t	1			
12	entrance at Residential Care to SR88	222,218	SF	\$0.14	\$31,110.52	222,218	\$31,110.5
13	Candy Dance Lane - Chip	43,228	SF	\$0.14	\$6,051.92	0	\$0.00
	Cemetery Rd - Pick up chips	13,936	SF	\$0.14	\$1,951.04	13,936	\$1,951.04
15	Industrial Way - Pick up Chips	79,240	SF	\$0.14	\$11,093.60	79,240	\$11,093.60
16	Pep Circle - Pick up Chips	15,344	SF	\$0.14	\$2,148.16	15,344	\$2,148.16
17	Service Drive - Pick up chips	47,944	SF	\$0.14	\$6,712.16	47,944	\$6,712.16
	Service Court - Pick up chips	5,012	SF	\$0.14	\$701.68	5,012	\$701.68
		4,900	SF	\$0.14	\$686.00	4,900	\$686.00
	Southgate Drive - Pick up chips		SF	7	/		
1	Patching on Town of Gardnerville streets	24,248		\$0.14	\$3,394.72	24,248	\$3,394.72
	prior to chip Seai Hidden Woods Drive (County Portion	6,000		\$10.00	\$60,000.00	3,400	\$34,000.00
22	A&B)- Pick up chips Full-depth (4" AC) patching on Hidden	32,458	SF	\$0.25	\$8,114.50	32,458	\$8,114.50
23	Woods Dr. (GID Portion)	64	SF	\$100.00	\$6,400.00	0	\$0.00
	Hidden Woods Drive (GID Portion C&D)- Pick up chips	21,046	SF	\$0.25	<b>\$5,261.50</b>	21,046	\$5,261.50
25	Eagle Lane (GID) - Pick up chips	6,233	SF	\$0.25	\$1,558.25	6,233	\$1,558.25
26	Lombardy Road "A" -Chip	34,677	SF	\$0.14	<b>\$</b> 4,854.78	34,677	<b>\$4,854</b> .78
27	Lombardy Road "B" -Chip	53,737	SF	\$0.14	<b>\$</b> 7,523.18	53,737	\$7,523.18
28	Lombardy Road "C" -Chip	28,644	SF	\$0.14	<b>\$</b> 4,010.16	28,644	<b>\$4,</b> 010.16
29	Wagner Court - Chip	16,848	SF	\$0.14	\$2,358.72	16,848	\$2,358.72

BK- 0105 PG- 5304 01/18/2005

### 2004 Chip Seal (July 2004)

Bid		Bid		Sierra Nevada	Construction	Final	Final
ltem	Description	Quantity	Units	Unit Price	Bid Amount	"Q"	Price
30	Ortega Way - Chip	8,328	SF	\$0.14	\$1,165.92	8,328	\$1,165.93
31	Sanchez Road - Chip	78,489	SF	\$0.14	\$10,988.46	78,489	\$10,988.46
32	Drury Lane - Chip	34,649	SF	\$0.14	\$4,850.86	34,649	\$4,850.86
33	Tourmaline Drive - Pick up Chips	28,723	SF	\$0.14	\$4,021.22	28,723	\$4,021.22
34	Agate Court - Pick up Chips	8,145	SF	\$0.14	\$1,140.30	8,145	\$1,140.30
35	12" STOP BARS	7	EA	\$40.00	\$280.00	15	\$600.00
36	CROSSWALK STRIPING	1	EA	\$100.00	\$100.00	5	\$500.00
37	DOUBLE YELLOW CENTERLINE	12,917	FT	\$0.20	\$2,583.40	15,498	\$3,099.60
38	4" FOG LINE	17,403	FT	\$0.15	\$2,610.45	22,043	\$3,306.45
39	8" LANE LINE	593	FT	\$0.20	\$118.60	300	\$60.00
40	TURN ARROWS	19		\$45.00			
		Total Contra	Ct	Bid Pref.?	\$337,007.00 YES		\$297,269.68

Additional Chips

Extra work:

77tn

16 \$1,232.00

298,501 68

# SEAL

#### **CERTIFIED COPY**

The document to which this certificate is attached is a full, true and correct copy of the original on file and on record in my office.

DATE:

B. C. State of the Judicial District Court of the State of Neyagia, in and for the County of Douglas.

By Deputy

BK- 0105 PG- 5305 01/18/2005